Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4h) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

The answers of the questions of week 5 should be manuscript (not typewritten). Keep a copy for yourself.

Please write WEEK  5 in bold at the beginning of your answers.

Week 5
1st part) How out and inflation are determined
1a) What does aggregate demand mean?

b) What are its components?

c) What are the main determinants of C expenditure? And of investment expenditure?
2.  Which argument was presented in the lecture to suggest that the AD curve may be vertical?

3. Why may the AD curve be instead an upward-sloping? 





…
Note: the 4% level of unemployment, the natural rate of unemployment, is also called the NAIRU (Non-Accelerating Inflation Rate of Unemployment)

4.  Explain how an unemployment rate below NAIRU leads an increase in inflation.
5. Explain how an unemployment rate above NAIRU leads a decrease in inflation.

6. One way to reduce inflation is to reduce AD to the level of NAIRU. Do you agree? Explain.
7. Last year y=yn and inflation = target = 2%. If Y < Yn this year, what will happen to the increase in unit costs next year compared with the increase in unit costs this year? Explain. 

8. Last year y=yn and inflation = target = 2%. If Y>Yn this year, what will happen to this year’s inflation? Explain.

9. Last year y=yn and inflation = target = 2%. What is the effect of a decrease in this year’s AD below Yn on this year’s output and inflation and on next year’s inflation? Explain.



....

Assume that the weight of non-wage costs and of wage costs in total costs are each equal to 1/2.

10. If last year Y=Yn and inflation as well as the increase in the prices of raw materials and energy were equal to 2%, what will happen to this year’s inflation if this year: 
a) Y remains at Yn and the prices of raw-materials rise by 6%? Explain.

b) Y falls below Yn and the prices of raw-materials rise by 6%? The answer is the same as the one to a). Why?



...

2nd part) MP based on inflation targeting
11.  Start with output at Yn and inflation and inflation expectations at the target. With the aid of a graph, explain the effects of a decline in consumption if the CB follows an inflation targeting-strategy.
12. An inflation targeting CB responds to deviations of inflation from the target but not to deviations of unemployment from the natural rate. Do you agree? Explain.

13.  Start with output at Yn and inflation and inflation expectations at the target. With the aid of a graph, explain how a substantial increase in oil prices may lead to stagflation.
15.  Start with output at Yn and inflation and inflation expectations at the target. With the aid of a graph, explain the effects of a decrease in oil prices if the CB follows an aggressive inflation-targeting strategy.

16. Start with output at YN and inflation and inflation expectations at the target. With the aid of a graph, explain the effects of a decrease in oil prices under a soft inflation-targeting.
17. The Phillips curve is drawn on a graph with inflation in the vertical axis and unemployment of the previous year in the vertical axis. Do you agree? Explain.

18. Explain the difference in the shape of the Phillips curve when inflation is near zero and when inflation is 12%.
